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1. ITacnopT poHIA OLIEHOUYHBIX CPEICTB

1.1 O0JsacTh NIpUMEHEHHU s

@®oH/1 OIEHOYHBIX CPEACTB IpEIHA3HAUYEH JUId MPOBEPKU PE3YyIbTATOB OCBOEHUS
muctummnael OI'CO.03. MHOCTpaHHBIN SA3BIK  (QHTIMICKHUI) MPOTPaMMBl  TIOATOTOBKH
CIIECIIMAIMCTOB CpeHETo 3BeHa Mo cnenranbHocTh: 23.02.01 Opranuzanus nepeBO30K U
yIpaBJeHHUE Ha TPAHCIIOPTE IO BUJAM).

@®OC BKIIOYAET KOHTPOJIbHBIE MaTepHasibl JJIsi NPOBEIEHUS TEKYLIEro KOHTPOJIS
YCIEBAEMOCTH U MPOMEXKYTOUHOM arrectanuu B ¢opme audpdepeHInpoBaHHOIO 3a4eTa.
HtoroMm auddepeHnnpoBaHHOIO 3ayeTa sBISETCS OLEHKa B Oaiax: 5 — OTIMYHO; 4 —
XOpOIIO; 3 — yIOBIETBOPUTENBHO; 2 - HEY/I0BIETBOPUTEIBHO.

®OC no3BOJISIET OLIEHUBATh YPOBEHb OCBOCHUS 3HAHUI U YMEHUH MO JUCIUIUIMHE.

1.2 Pe3yabTaThl 0CBOEHHS AMCHUILIHHBI, MOAJIeKaNHe KOHTPOJIO
B pe3ynprate KOHTpOJII M OICHKH MO IUCIHUIUIMHE OCYIIECTBISICTCS IPOBEPKa
CICAYIOIINX 3HAHUW U YMEHUH T10 TTOKa3aTesIM:

Ta0mumna 1
Pe3yabTaTsl 00yueHus IMoxa3arTeu OLEHKH dopmupyemble 001IHE
KOMIICTCHIIUH,
pe3yabTrara
JIMYHOCTHBIE Pe3yJIbTaThI
V1 oOmarecs (yctHO U | - ymenne  nepeckasbiBarh | OK1, OK3, OK 4, OK 6
HUCbMEHHO) Ha | mpountamHylo uH(opmammio ¢ | JIP 2 JIP7 JIP9 JIP10 JIP12

HHOCTPpAHHOM  S3bIKEC Ha | UCIIOJIb30BAHUEM KIIMIIC, PEYCBLIX
HpO(i)CCCI/IOHaJ'IbHBIe u | ornop
IMOBCCAHCBHBIC TCMbI,

V2 MEepPEBOIUTh (co |- BEINIOTHEHHE YCTHBIX u | OK1,0K 4, 0K 6
clioBapeM) ~ MHOCTPaHHbBIE | MMCHMEHHBIX TepeBoyoB Tekcrop u | JIP 2 JIP7 JIP9 JIP10 JIP12
TEKCTBI craTe npodeccuoHaIbHON

poheCCUOHATBHOMN HAIPaBJICHHOCTH, a TaKKe HAYJIHO-

HaTPaBJICHHOCTH; MIOITYJIIPHOTO TEKCTa CO CIIOBAPEM.

- UCIIOJIB30BAaHWE  PA3JIMYHBIX
HMCTOYHUKOB uHpopMaluuy,
BKJIFOYAsi  DJIEKTPOHHBIE, npu
BBIMIOJJTHEHUM  IPAKTHYECKUX U
CaMOCTOSITENIbHBIX
UCCIIEI0BATEIbCKUX PadoT

V3 CaMOCTOSITENILHO | - rpaMOTHOE ucnoas3oBanue | OK3, OK 4, OK 6, OK 9
COBEPIICHCTBOBATh YCTHYIO | SI3BIKOBBIX CpeIcTB npu

JIP 2 JIP7 JIP9 JIP10 JIP12
51 MACHEMEHHYIO peub, | MOCTPOECHUU yOJINYHOTO




HOMOJHATh  JIEKCHYECKUH | BBICTYIUICHHS
3amac
- 3¢¢exTuBHBIN IIOUCK
HE00XO0aMMOM HH(POPMAILTHH
- HUCHOJb30BAaHHWE  PA3THMYHBIX
HCTOYHHKOB
31  nexcuueckuit (1200- | - sddexTuBHBIN nouck | OK 4, OK 6, OK 7, OK 9

1400 JIEKCUUECKUX
€IUHUIT) u
rpaMMaTHYeCKUN

MHUHHMYM, HEOOXOJIUMBIN

JUI YTE€HUs U nepeBoja (co
CJIOBapeM)
TEKCTOB

HHOCTpPAaHHBIX

npodeCcCHOHAILHON
HATPaBJICHHOCTH.

HeoOXoauMo HWHGOPMAIMK  TIPH
YTEHUH TEKCTOB.

- HUCITIOJIB30BaHUEC PA3INIHBIX

HCTOYHHKOB nHpopmanuu,
JUTSL

COOCTBEHHOU

BKJIrO4as QJICKTPOHHBIC,
APpTrYMCHTUPOBAHUA

TOYKHU 3pCHUS.

- Oopranus3anusa CaMOCTOATCIbHBIX
3aHATHI IIpu HU3YyUYCHUU
rpaMMaTud4CeCKOro U JCKCUYCCKOIro

Marepuana.

- TOMCK HEOOXOIMMBIX S3BIKOBBIX
CAMHUL] c 3peHus
MPaBWIBHOCTH  YNOTpEOJIeHUus B

PAa3JINYHBIX PCUYCBBIX CUTYyallUAX.

TOYKHU

JIP 2 JIP7 JIP9 JIP10 JIP12

1.3 CucremMa KOHTPOJISI M OLIEHKH OCBOEHMSI IPOrPaMMbl M CUMILIMHBI

1.3.1 ®opMbI NPOMEKYTOYHOH ATTECTAUMH MO NPOrpaMMe NPH OCBOCHUM
NMPOrpamMMbl U CHUAIJIMHBI

TaOmuna 2
HanmeHoBanue CemecTp Ha 6a3ze ®opmbl
AUCHUIIJIUHBI OCHOBHOI'Q cpeaHero HpOMe)KyTO‘IHOﬁ
o0mero o01ero aTrecTanuu
o0pa3oBaHusi | 00pa3oBaHusA
WNHOCTpaHHBIN A3BIK 5 3 mddepeHIpOBaHHBIN
(aHrIMICKUM S3BIK) 3a4er
WNHOCTpaHHBIN A3BIK 8 §) mddepeHIpOBaHHBIN
(aHrTMICKUM S3BIK) 3a4er

1.3.2 Opranu3zanus KOHTPOJISl M OLEHKH OCBOEHUS NMPOrPaMMbl JUCIHUIJIMHBI

OcHoBHBIMH (hOpMaMU TPOBEACHUS TEKYIIETO KOHTPOJS 3HAHWM Ha 3aHATHIX

ABJIAIOTCA: yCTHBIﬁ OITIpOC, TCCTUPOBAHUE, BLIMMOJHCHUC JICKCUKO-TPAMMATHUYCCKUX

ynpamHeHI/Iﬁ, YTCHHUC MW IIEPEBOJ TCKCTA, MOHOJOIHMYCCKHC MW JUAJIOTHYCCKHE

COOOIIIEHHS, dCCE MO TEME.




TaOmuna 3

. IIpomexyTouHas
Texymmuii KOHTPOJIb yCIIEBAEMOCTH aTTecTalNs
Pasrex/rema ®opmbl | [IpoBepsiemble
JUCHHUILIMHBI DopmbI KOHTPOIS l'{})ogse([));l(enﬁb}l)e xontpoas | Y, 3, OK,IIK,
> i JP
Paznen 1 BBomHO-KOppPEKIIMOHHBIHN Kypc Hud. Y1,¥2,V3,31
3a4eT OK1 OK3 OK4
Tema 1.1 BxoaHoli KOHTPOIIB. V1,V¥2,V3,31 OK6 OK7 OK9
AHTJIOS3BIYHEIE TectupoBanwme. OK3 OK4 OK7 [1IK1.1 I1K1.3
CTpaHbI JIP7 JIP9 JIP10 I1K3.1 I1K3.3
Tema 1.2 VCTHBIIH orpoc. V1,V2,V3,31 JIP2 JIP7 JIP9
IyremecTBue MOHOJIOrHYECKOE OK3 OK4 OK7 JIP10 JIP12
COOOIICHHE. JIP7 JIP9 JIP10
Paznen 2 PasBuBatomuii kypc
Tema 2.1. Mara3zunsl. | Jmanorudeckue V1, V2,V¥3,31
INoxymnku cooOmIeHus. OK3 OK4 OK7
JIP7 JIP9 JIP10
Tema 2.2. Hayka Urenue u nepeBox Tekcta. | Y1, V2, V3,31
OK3 OK4 OK6
JIP2 JIP7 JIP9
Tema 2.3. Oxomorus Urenue u nepeBox Tekcta. | Y1, V2, V3,31
MoHo0rn4yeckoe OK3 OK4 OK7
COOOIIICHHE. JIP2 JIP7 JIP10
Tema 2.4. Urenue u nepeBox Tekcta. | Y1, V2, V3, 31
O6pa3zoBanue OK3 OK4 OK6
JIP2 JIP7 JIP9
Tema 2.5. XKemne3Hnle MoHoJioruuecKkoe V1,V2,V3,31
noporu Poccuu coO0O0IIIeHuE. OK1 OK3 OK4
JIP10
Tema 2.6. Pa6ora. YcTHbIH ompoc. V1,V2,V3,31
Kapeepa MoHonornyeckoe OK1 OK3 OK4
coo0IIEeHHE. JIP7
Tewma 2.7. KyneTypa YcTHBIN ompoc. V1,¥2,V3,31
MoHooruueckoe OK3 OK6
coo0IIEeHHE. JIP7 JIP9
Tema 2.8. [Ipobmembr | Dcce 1o TeMme. V1,V2,V3,31
MOJIOZEKU OK3 OK4 OK6
JIP9 JIP10 JIP12
Tema 2.9. BrInonHeHue JIEKCUKO- V1,V¥2,V3,31
KomMmnerorepst rpaMMaTUYECKUX OK3 OK4 OK6
yHpaXHEHHH. JIP2 JIP7 JIP10
Tema 2.10. Urenne u nmepeBoa Tekcta. | Y1, V2, V3, 31
ABTOMaTH3aIUA OK1 OK3 OK4
JIP10
Tema 2.11. EBponia Ha | Urtenue u nepeBof tekcta. | Y1, ¥2, Y3, 31
penbeax MoHonornyeckoe OK1 OK3 OK4
COOOIICHHE. JIP10
Tema 2.12. YeTHbIi ompoc. Vi1, V2,V¥3,31
CoBpeMeHHEIE OK1 OK3 OK4




roe3aa. [loe3na JIP10

Oymymiero

Tema 2.13. Pa3Burtue Urenue u nepeBoxa Tekcta. | Y1, V2, Y3, 31

JKEJIE3HBIX TOpOT OK1 OK3 OK4
JIP10

Tema 2.14. Urenne u mepesoxa Tekcta. | Y1, V2, Y3, 31

Opraam3anus OK1 OK3 OK9

IBIDKEHUA Ha JIP7 JIPOTIK 1.1

JKEIE3HOM IIK 1.3

Jlopore

Tema 2.15. YcTHbIi ompoc. V1,V¥2,V3,31

TpeboBanus Momnostoruueckoe OK1 OK3 OK9

K COOOIICHHE. JIP7 JIP9TIK 1.1

COBPEMEHHOMY I1K1.3

CIICITUATTUCTY

Tema 2.16. Urenne u nepeBoa Tekcta | Y1, Y2, Y3, 31

Opranuzanus OK6 OK7 OK9

JIBIDKEHHS Ha T1K3.1 I1K3.3

JKEJIC3HOU JIP 10

Jopore

Tema 2.17 Dcce 1o TeMe V1,V¥2,V3,31

KourelinepHsie OK6 OK7 OK9

MIEPEBO3KHU I1K3.1 I1K3.3
JIP 10

OueHka  ocBO€HUsI  IUCHMIUIMHBI  WHOCTpaHHBIM  s3bIK  (QHIVIMMCKUI)

npelycMaTpUBAEeT CUCTEMY OIICHUBAHUS: PE3YNbTAaThl TEKYIIETO, PyOEKHOTO KOHTPOJS,

IIPOMEKYTOYHOM aTTECTALUH.

HuddepeHpoBaHHbIe 3a4€Thl MPOBOJAATCS B CPOKH, YCTAHOBIEHHBIE Y4EOHBIM

IJIAHOM,

H  OIpeaciIACMbIC KaJICHIAPHBIM

yueOHBIM Trpa@ukoM 00pa30BaTEIbHOTO

npoiiecca. JuddepeHurpoBanHbie 3a4eThl MPOBOIATCS B (hOpME KOHTPOIHHOU pabOTHI.
Pacnipenenenue mpoBepsieMbIX pe3yIbTaTOB OOYYEHHS JAUCIMILIAHE MO0 BUAaM KOHTPOJIIS
MIPUBOJUTCS] B CBOJITHOM TaOiHIle

Tabmuua 4 CBoHas TadIUIA 10 JUCLIUIUINHE

PesynpTarel Texynuii KOHTPOJIb [IpomexxyTounast
00y4YeHHs 110 aTTecTanus
JUCLATIIINHE Verueit | Tectupo|  Jlekcuko- KoHTponbHbI Hud.
orpoc BaHUE | IpaMMaTH4eC e paboTbI 3aueT
KM€ 3aJlaHus
YMmers | V1 + + + +
V2 + + + + +
V3 + + + + +
3Hate | 31 + + + + +

2. MOHJ OLIEHOYHBIX CPEeACTB /Jisl OlleHKH YPOBHSI OCBOEHHsI YMEHUIl H
3HAHUM 0 AUCHHUIIJIUHE



2.1 MaTtepuaJibl TEKyIIero KOHTPOJISI yCIIEeBAEMOCTH

BxoaHoM KOHTPOJIb
®opMoii BXOJTHOTO KOHTPOJIS 10 AUCHUIIIMHE IHOCTpaHHBIN SI3bIK (aHTITUHCKUI)

SIBIISIETCS JICKCUKO-TPaMMaTUYeCKuil TecT. Bpems BoimonHeHus: paboThl 20 MUHYT.
[IpoBepsiembie 3Hanus u ymenust: Y1, Y2, V3, 31, OK3, OK4, OK?7, JIP7, JIP9,
JIP10.

Kpurepuu oneHkwu:

«5» - 3aganus BeinoaHeHbl Ha 91-100 %

«4» - 3aganus BeIToHEHBI HA 71-90%

«3» - 3aganus BeIToIHEHBI HA 51-70%

«2» - 3aJ1aHUs1 HE BBIIOJHEHBI U uMeeTcs 6onee 50% ommbok

1 BapuanT

1. The Republic of Buryatia ....in the south part of the East Siberia, southwards
and eastwards of the lake Baikal.
a) is situated b) separates c) divides
2. Buryatia .... fresh, mineral and thermal waters.
a) Isused in b) belongs c)isrichin
3. Igetupat...70’clock in ... morning.
a) -,a Db)the,a c)-, the
4. This is ... my room. ... room is large.
a) -,theb)--¢)-,a
5. ... Volga flows in ... central part of ... Russia.
a) the, a, - b) -, the, the ) the, the, -
6. We live ... a nice place.
a) on b)in c)at
7. My mother gets up ... 6 o’clock.
a)at b)to c)in
8. The trousers are made ... cotton
a)in b) of c)at
9. Every day he ... to the sports club.
a)has gone b) go c)goes
10. Look, she ... in the bedroom.
a)sleeps Db) slept c) is sleeping
a) some b) many c) any
11. There is not .....ink in my pen.
a) some b) many c) any
12. It’s ..... to go there by car.
a) cheap b) cheaper c) cheapest
13. I’ve never seen ..... that tall before.
a) anybody b) somebody c) everything
14. Poetry of the 19th century is beautiful. ... influence on our generation is
great.
a) she b) her c) its



15. We enjoyed the concert very .....
a) much Db) many
2 BApUAHT
1. Lake Baikal ........ in the centre of the Asia
a) is famous for b) is situated c) is rich in
2. We ...... of the fact that we live in such a wonderful place.
a)are Db) areproud c) have
3. I'live on ... second floor.
a) the b)a c) -
4. 1 go to college by ... bus.
a)- b) the c)a
5. Moscow is ... big city.
a)a b)thec) -
6. He goes ... the seaside every summer.
a)to b)inc)at
7. The plates are ... the table.
a)at b) on c)in
8. He came ... London last week.
a)in b)toc) -
9. Yesterday my brother ... a new bicycle.
a)buy b) will buy c) bought
10. They ... already the blackboard.
a) cleaned b) have cleaned c) are cleaning
11. Where is Mark? He....... shower.
a) has b) is having c) has had
12. There are not .... mistakes in your test.
a) much b) some c) any
13. Did .... ring me up?
a) somebody b) nobody c) anybody
14. The film was really.....
a) bored b) boring
15. He is two years ..... than you.
a) older b) old c) oldest

OTBeTHI:
1 BapumanT: 1a 2c 3c 4a 5¢ 6b 7a 8b 9¢ 10c 11c 12b 13a 14c 15a
2 BapuanT: 1b 2b 3a 4a 5a 6a 7b 8a 9¢ 10b 11b 12c 13c 14b 15a

MarepuaJjbl TEKyIero KOHTPOJIst

Marepuasl TEKYIIETO KOHTPOJS COJAEp>Karcs B  METOJUYECKHUX

pa3paboTkax, yTtBepkaeHHbIX Ha 3acemanuu [[MK (cm. YMK), tembr u ¢Gopmbl
camocTosiTeTbHON padoThl — B rpaduke CPC nmo nucuumiuHe. Texkymuii KOHTPOJIb
no aucuuriuinHe MHOCTpaHHBIN $3bIK (AHTIMICKUNA) COCTaBIEH B COOTBETCTBUU C
paboueil yueOHOU mporpammoil. Matepuasibl TEKYIIEro KOHTPOJS COJEpXkKaTcs B

YMK.
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MartepuaJibl py0eKHOTr0 KOHTPOJISI

PyOexxHplii KOHTPOJh IIpoBOAMTCS B KoHIe 3/1, 6/4 cemectpoB B dopme
KOHTPOJILHON paboThl. J[aHHBIE KOHTPOIBHBIE PAaOOTHI HAMPABICHBI HA MPOBEPKY
YCBOCHUSI OCHOBHBIX JICKCHYECKHX W TPAMMATHYECKUX HOPM aHTJIMHCKOTO S3BIKA.
[IpoBepsiembie 3Hanus U ymenus: ¥Y1,¥2, 31, OK1, OK3, OK4, OK6, OK 7, OK9,
IK 1.1, IIK1.3, T1K3.1, [1K3.3, JIP2, JIP7, JIP9,JIP10, JIP12

3/1 cemectp

PyOexublii koHTposib B 3/1 ceMecTpe HMPOBOAMTCSA IO CJACAYIOIIMM TEMaM:
«AHTI0SI3bIYHBIC CTpaHb», «llyremectBue», «Marasunbl. [lokymkm», «Haykay.
3agaHus TpEArnojiaraloT IepeBOJi TEKCTa, OTBEThl Ha BOMPOCHI, COCTaBJICHUE
MIPEIOKEHUI U OTIpe/ieJIieHHe BpEMEHH TJ1arosia.

[Tpu BBIMOJTHEHUN MOKHO TI0JIb30BAThCS aHTJIO-PYCCKUM CIIOBApPEM.

MakcuMallbHOE BpeMsl BBITIOJIHEHHS 3adaHus 90 MUHYT.

Kpurepnun oneHkn pe3ynprara:

«5» - 3amanus BeioHeHBI Ha 91-100 %

«4» - 3amanus BeIToJHEHBI Ha 71-90%

«3» - 3amanus BeIToJIHEHBI HA 51-70%

«2» - 3aJaHUs HE BBINOJHEHEI W uMeeTcs 0oonee 50% ommbok

1 BapuaHT

1. Read and translate the text.

People began to travel long ago. The very first travelers were explorers who
went on trips to find wealth, fame or something else. Their journeys were dangerous
but still people keep on going to the unknown lands.

Nowadays it is not as dangerous and much more convenient. Hundreds of
companies are there to help you. They will care about your tickets and make all the
reservations needed. If you don’t speak the language of the country, there are the
interpreters that will help you.

Tourism has become a very profitable business because people are ready to
spend their money for the great opportunity to have a good time learning about new
cultures, going sightseeing resting and enjoying themselves.

2. Answer the following questions.

a) Name the reasons people traveled in the past and travel nowadays.
b) What do the travel companies do to help you to travel?

3. Finish up the sentences.

a) If a person doesn’t know foreign language he can rely on ....

b) Tourism is not a cheap business because ...

4. Find in the text the sentences in:

10



a) Present Simple b) Present Perfect c¢) Past Simple (momuepkHuTE TiIaro-
CKazyemoe)

5. Make a sentence using the following words.

Shops, food, things, are, other, necessary, because, need, we, clothes, and.

6. Answer the question.

What kinds of shops do you know?

7. Fillin the gaps.

a. The UK (coctout u3) 4 parts, which are: England, Scotland, Wales and
Northern Ireland.
b. Their (crommmer) are London, Edinburgh, Cardiff and Belfast.
c. The UK (omsiBaetcs) the Atlantic ocean and the North Sea.
8. Answer the questions.

a. Who is officially the head of the state in Great Britain?
b. Which building is the official residence of Queen Elizabeth 11?

2 BapHaHT
1. Read and translate the text.

People in our planet can’t live without travelling now. Our ancestors liked to
travel as well, but tourism has become a highly developed business not long ago.
There are a lot of companies that provide you with comfort and security. What
choice to make? There is a great variety of choice available for you. Those who live
in the country like going to a big city, visiting museums and art galleries, looking at
the shop windows and dining at exotic restaurants. City-dwellers prefer holidays at
the sea or in the mountains with camera.

Nowadays people travel not only for pleasure but also on business. You have to
go to other countries to participate in different negotiations, to sign contracts and
push the goods produced by your firm or company.

2. Answer the questions to the text.

a) What are the reasons people travel around the world?

b) What do people do if they travel on business?

3. Finish up the sentences using the text.

a) Travel companies help you to be ...

b) Tourism needs a lot of money because itisa ...

4. Find in the text and write down the sentences in:

a) Present Simple b) Present Perfect c¢) Past Simple. (nmoguepkuuTe riaros-
CKa3zyemoe)

5. Make a sentence using the following words:

And, people, galleries, a, city, big, museums, visit, in, restaurants.
6. Answer the question.

What can you buy at the butcher’s?
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7. Fillin the gaps.

a. The UK (otmeneno ort) European continent by the English
Channel.
b. The flag of the United Kingdom (Ha3siBaetcs ) as the Union Jack
and (coctout u3) Of three crosses.
c. The area of the UK (coctaBnser) 244,100 square kilometers.
8. Answer the questions.

a. How many Houses does the British Parliament consist of?
b. What is the City of London famous for?

6/4 cemecTp
PyOexHblii KOHTpOJb B 6/4 cemecTpe MNPOBOJUTCA MO CIEAYIOIIUM TEMaM:

“ABromarmzamms’’, “ EBpoma Ha penscax’, “ CoBpeMmeHHble moe3na. Iloesma
Oyaymiero”.

3amaHusl TPEANojararoT TEPEeBOJ TEKCTa, OTBETHI Ha BOIPOCHI, COCTABJICHHE
MIPEIIOKCHHUH U OTIpeIeSIieHne BPEMEHH TJIaroJia.

[Tpu BRIMOTHEHUN MOYKHO TIOJIB30BATHCS AHTJIO-PYCCKUM CIIOBAPEM.

MakcuMasibHOE BpeMsl BBIITOTHEHUS 3a0aHus 90 MUHYT.

Kpurepun oneHku pe3ynprara:

«5» - 3aganns BeimoaHeHsl Ha 91-100 %

«4» - 3ananns BeInoJHeHs! Ha 71-90%

«3» - 3aganns BeInoJHeHs! Ha 51-70%

«2» - 3a7aHNs HE BBINOJHEHEI WK uMmeeTcst 6osee 50% ommbok

Bapuant 1

1. Translate the text in a written form:

Present day signaling systems use colour light signals. The aim of railway
signaling was to provide high standard of safety in train operation. For this purpose
interlocking plants are in general use at terminals, junctions, railroad crossings, etc.
Colour light signals are widely used for automatic signaling. Stations equipped with
modern signaling system have signals at each end, for entering and leaving, with
signals located approximately half-a-mile from the approach signals to warn the
drivers that they are coming to a station. These signals give indications by electric
lights, both by day and night. They are usually of three lights: red, yellow and green.
2. Answer the following questions:

a) What is the main purpose of the signaling system?
b) What colour are the lights?
c) Where are interlocking plants used?
3. Find in the text sentences in:
a) Present Simple b) Past Simple c) Present Passive (Iloguepkaute riaros-
CKa3yeMoe)
4, Make up one sentence using the following words:
Drivers, on, railroads, the, help, signals, avoid, accidents, to.
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Bapuant2
1. HHucemenno nepesedoume mekcm.

Electric locomotives were originally designed so that the motors were controlled
directly by the driver. The traction power circuits passed through a large controller
mounted in the driving cab. A handle was rotated by the
driver when it was necessary to change the switches in the circuit to increase or
reduce power as required. This arrangement meant that the driver had to remain
close to the motors.

But the desire to get rapid turnarounds on city railways led to the adoption of
remote (aucranuunonnoe) control. The idea was that, if the motors could be remotely
controlled, the driver’s controls (myabpTsl yrpasienus) could be placed at each end
of the train. In this case, it was not necessary to have a locomotive added at the rear
of an arriving train to make the return journey. A cab could be installed at each end
of the train.

When this idea was realized it became clear that the motors could be placed
anywhere along the train to provide the performance desired and more but smaller
motors were distributed along the train.

2.0meemovme Ha 60NPOCH NO MEKCMY.
a) Why was remote control adopted?
b) Where were driver’s controls placed?

3. Onpedenume epema u 3an02 caeodywuwux npeonodxcenui. Iloouepknume
21azojl- ckasyemoe.

a) Electric locomotives were originally designed so that the motors were controlled
directly by the driver.

b) The traction power circuits passed through a large controller.

c) This is how the concept of motor cars and trailer cars evolved.

4. Cocmasvme npeonoicenue co C106amMu.
The, control, driver, can, motors, remotely, locomotive, of.

5. Onpeodenume 2nazonvl, om KOmMoOpvIX 00pazoeamnsvt ciedywujue c1oea,
nepeseoume ux.
Arriving, performance, adoption, arrangement.

2.2 MaTepuaJjibl IPOMEKYTOYHOI aTTECTALIMU.
3amaHusg JUIsl OLUEHKM OCBOCHHS 3HAHUN NPEACTaBISIOT AUQPPEpeHIIMPOBAHHBIC

3a4eThl MO0 TeMaM Y4YeOHBIX ceMecTpoB pabouell y4eOHOW MpOrpaMMBbl JUCHUILTHHBI
OI'C5.03. HOCTpaHHBIH SI3BIK (AHTJIMUCKUN):

5, 8 cemecTpel / 3, 6 cemectphl B dopme auddepeHIMpOBAHHOIO 3a4eTa B BUJIE

KOHTPOJBHOU PabOTHI.
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®EJIEPAJIBHOE ATEHTCTBO XEJIE3HOJIOPOXXHOI'O TPAHCIIOPTA
Van-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunuan deneparbHOrO roCy1apCTBEHHOTO OIOIKETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO OOpa3OBaHMS

«MpkyTCKUil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKKT HpI'VIIC)

PACCMOTPEHO JIUDDEPEHIIMPOBAHHBIN 3AUET | COI'JTACOBAHO
IIMK eymanumapnvix oucyuniun Hucnumuza: OI'CD.03. MHocTpanHBI | 3aM. AUpeKTOpa Koylemka no YP
npotokos Ne 5 ot 08.04.2024 SI3BIK (@HTJIMICKUIN) 7
Ipencenarens [IMK CrenpanpHocTs: 23.02.01 247 W.A. Boyaposa
Opranusanus nepeBo30K U yIPABIEHUE | (IOAMICH) (1.0.0)
M.U. CaiipyranHoBa Ha TpaHcmopTe (TI0 BUIAM)
(Tmoarmce) Hn.0.9.) 3 kype, 5 cemectp / 2 Kypc, 3 cemecTp
Konrtponpaas pabora
1 BapuanT
HucTrpykuus

1. 3aganus mnpennonaraloT IMEPEBOJ TEKCTA, OTBEThl Ha BOIPOCHI, COCTABIECHUE
IIPEUIOKEHUI U OIIpeIeIEHNe BPEMEHU TJ1aroja.
2.  Ilpu BBINOJHEHUH MOYKHO ITOJIB30BATHCS AHTIIO-PYCCKUM CIIOBAPEM.
3. MakcumanbHO€e BpeMs BBIOTHEHUS 3a1aHusi 40 MUHYT.
4.  Kpurepuu olleHKH pe3ynbTara:
- «OTJINYHO» - CTABUTCH 32 MPAaBUIILHOE BHINIOJHEHUE 4 3aaHU
- «XOpOILLIO»- CTABUTCS 3a MPAaBUIbHOE BHINOJIHEHHE 3 3aJaHUN
- «YyZIOBJIETBOPUTEJILHO» - CTABUTCS 3a PAaBUJIbHOE BBINOJIHEHUE 2 3a1aHUI
- «HEYJOBJETBOPUTEIBHO» - CTABUTCS 32 MIPaBUJILHOE BBINIOJIHEHUE 13a1aHusl.

1. Ilucemenno nepesedume mexcm.

High speed is the main advantage of monorail transport. Also, monorails can be laid in a
comparatively short time because their construction involves little earthwork. Besides, the
construction of monorails will be about 30 per cent cheaper than that of the Metro.

Monorail can be utilized for many purposes: it can provide comfortable high-speed
communication between the centre of the city and the airports situated some 20-30 km away; it can
be used for connecting large cities with their satellite towns and so on. All that can be a reality in
the near future.

The choice of the type of monorail depends upon climatic conditions, topography of the country
and the number of passengers.

The high-speed air-cushioned transport is most effective for long distances. Within city limits
these monorail cars will run at a lower speed and with the aid of noiseless engines.
(Air- cushioned — Ha Bo3yI1IHO# MTOAYIIIKE)
2.0meembme na 60npocvl no meKcmy.
Describe the advantages of monorail transport. What are they?
Why is air-cushioned transport effective?

3.0npedenume spemsn u 3anoz npeonoxcenuit. Iloouepknume 2nazon-cxkazyemoe.

a) The choice of the type of monorail depends on climatic conditions and topography of the
country.

b) Within city limits these cars will run at a lower speed and with the aid of noiseless engines. c) It
is used for connecting large cities with their satellite towns.

4.Cocmasbme npeonosicenue, UCno1b3ya cledyioujue cnoea:

Than, more, monorails, world, the, today, 20, in, operate.

[IpenonaBatens M.U.CaiipyrauHoBa
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®EJIEPAJIBHOE ATEHTCTBO XEJIE3HOJIOPOXXHOI'O TPAHCIIOPTA
Van-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunuan deneparbHOrO roCy1apCTBEHHOTO OIOIKETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS
BBICIIIETO OOpa3OBaHMS

«MpKyTCKUI TOCY1apCTBEHHBIN YHUBEPCUTET MTyTEH COOOIICHUS»
(YYKKT HpI'VIIC)

PACCMOTPEHO HH@@EPEHHHPOBAHHBIP‘I 3AYET | COI'JTACOBAHO

UMK eymanumapmuix oucyuniun Juctmmina: OTCD.03. 3aM. TMpeKTopa KoJuleaxka 1o YP

nporokon Ne 5 ot 08.04.2024 WHOCTpaHHEIH A3bIK (AHTITHIACKHIA) W,

Ipencenarens LMK Cneuunanbaocts: 23.02.01 /7 H.A. boyaposa

OpraHu3amyus MepeBo3ok u ynpasienne | (TOAMACE) (1.0.0)
Ha TpaHcIopTe (TI0 BUIAM)

M.U. CaitdbyranHoBa

(mozmwce) (1.0.2.) 3 Kype, 5 cemecTp/2 Kype, 3 cemectp
KouTtponbHas pabota
2 BapHaHT
HNucrpykuus

1. 3amanus npeamonaraloT IEpPEBOJ TEKCTa, OTBETHI HAa BONPOCHI, COCTaBIECHUE
IPEUIOKEHH U OIIpeesIeHe BPEMEHU I1aroja.
[Tpu BBINOJIHEHUU MOXHO 0JIb30BATHCS AHIIO-PYCCKUM CIIOBAPEM.
MakcumanbHOE BpeMsl BhINONHEHU 3a1aHus 40 MUHYT.
Kpurepuu onieHku pesynbrara:
- «OTIMYHO» - CTABUTCS 3a MPABUIILHOE BHIIOJHEHHE 4 3aaHU
- «XOpOILLIO»- CTABUTCS 3a MPABUIbHOE BHINOJIHEHHE 3 3aJaHUN
- «YyZIOBJIETBOPUTEIILHO» - CTABUTCS 3a PAaBUJIHLHOE BBINOJIHEHUE 2 3a1aHUI
- «HEYAOBJIETBOPUTEIILHO» - CTABUTCS 3a MPAaBUJIbLHOE BHINOJIHEHHE | 3a1aHMsL.

pwn

1. ITucomenno nepeseoume mekcm.
With increasing containerization there arose the demand for international railway container
transportation from and to different countries. Several railways have designed special container
carrier wagons and have built them in large numbers although containers can also be carried by
conventional flat wagons which are, in, fact especially at periods of peak demand, used for this
purpose. A further increase in container traffic is expected between railways with different rail
gauges. At present railway container traffic is the heaviest between Western Europe and Japan via
the Trans-Siberian Railway. The Russian railways are systematically promoting the construction of
modern containers. There are already numerous container trains between Russian, Polish, German,
Hungarian and other railways.

A new branch of the transport machine building industry, namely the container building industry,
will have to be developed to specialize mainly on constructing high capacity containers.
2. Omeemvme Ha 60nPoOCHL RO MEKCMY.
a) Why do Russian Railways promote the construction of modern containers?
b) For what aim will be the container building industry developed?
3. Onpeoenume epemsa u 3a102 npednoxcenuit. Iloouepknume 2nazon-cxazyemoe.
a) Several railways have designed special container carrier wagons.
b) The Russian Railways are systematically promoting the construction of modern containers.
c) A further increase in container traffic is expected between railways with different gauge.
4.Cocmaevme npeonosicenue, UCROIb3YA Clle0yIOuiUe C1064:
Our, intends, to construct, with, capacity, country, high, containers.

IIpenonasareins ' M.M.CaiipyrauHoBa
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OEJIEPAJIBHOE ATTEHTCTBO XEJIE3HO/IOPOXXHOI'O TPAHCIIOPTA
VnaH-Y IPHCKUN KOJUTEIK KEIE3HOIOPOKHOTO TPAaHCIIOPTA —
¢dunuan denepanbHOTO TOCYIAPCTBEHHOTO OI0KETHOTO 00Pa30BaTEIBLHOTO YUPEKICHUS
BBICIIIETO OOpa3OBaHMS

«MpkyTCKuii TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»
(YYKXKXT HpI'VIIC)

PACCMOTPEHO [[I/ICI)CI)EPEHLIMPOBAHHbIIZ 3AYET COT'JTACOBAHO
MK eymanumapmwvix ducyuniun Hucnumnuua: OI'CD.03. MHocTpanHblii | 3am. qupekTopa KoJuiemxa no YP
npotokon Ne 5 ot 08.04.2024 SI3BIK (QHTIUHCKHI) e
[Ipencenarens LIMK CrenpanpHocTs: 23.02.01 (A 77 N.A. Boyaposa
Opranusanys nepeBo30K U yIPABIEHNE HA | ([OAITHCH) (1.0.9)
M.J. TpaHcHopTe (110 BHIaM)
Cait MHOBA 4 xypc, 8 cemectp/3 Kypc, 6 cemectp
(moammch) (N.0.®.) Kontponsras pabora
1 BapuanT
HucTrpykuus

1. 3apmanus mnpeamonararoT TEpeBOA TEKCTa, OTBETbl Ha BOIPOCHI,
COCTaBJICHHE MPEATIOKEHUN U OIpe/ieJICHHe BpEMEHH Tiaroa.
2. Ilpu BHIMOIHEHUH MOKHO MOJIb30BATHCS AHTIIO-PYCCKUM CIIOBAPEM.
3. MakcumanbHoe BpeMs BbIoHeHUs 3a1anust 40 MUHYT.
4. Kputepuu OlLIEHKH pe3yabTaTa:
- «OTJIMYHO» - CTABUTCH 3a IIPAaBUJIbHOC BBIIIOJTHEHUE 4 SaHaHI/Iﬁ
- «XOpPOI1IO»- CTAaBUTCA 3a IPABUJIBHOC BBIIIOJIHEHUE 3 SaI[aHI/Iﬁ
- «YOOBJIETBOPHUTEIIBHO» - CTABUTCA 3a IIPABUJIBHOC BBIIIOJTHEHUE 2 SaHaHI/Iﬁ
- CHEYHOBJICTBOPUTEJIIBHO» - CTABUTCA 3a IPAaBUJIBHOC BBIINIOJIHECHUEC 1 3a1aHUsA.

1. Ilucemenno nepesedume mexcm.

One of the new ideas put forward in the last quarter of the 19" century was the idea of a
monorail railroad. The idea was laughed at by many but some people believed it was a promising
one.

One of the first monorails appeared in 1882 when L. Brennan, an Irishman, built an
experimental monorail car. The inventor designed his car as a military vehicle because the speed
at which a single rail could be laid made it ideal for military purpose. According to Brennan, those
cars could be worked with steam, petrol and electricity. In 1887, a Russian engineer 1. Romanov,
designed a suspended electrical monorail that was successfully demonstrated in St. Petersburg.
There are more than 20 monorails, most of them experimental, operating in the world today. Their
successful operation shows that they could be used as means of regular passenger transport.

2. ITucomenno omeemovme na 60npocovl no meKcmy:
For what aim did Brennan design monorails?
b) What fuel could the cars work with?
3. Onpeoenume epems u 3a102 npeonosxcenuii. [loouepknume 2nazon-ckazyemoe 8
Kax#coom u3 Hux.
a) The idea was laughed at by many people.
b) But some people believed it was a promising idea.
c) Their successful operation shows that they could be well used as a mean of regular
passenger transport.
4. Cocmasvme npeonoycenue, UCNONb3YA Cledyroujue C0ad.
Cities, can, provide, this, traveling, monorail, between, large, comfortable.

IIpenonaBarens ' M.U.Caii¢pyrauaoBa
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®EJIEPAJIBHOE ATEHTCTBO XEJIE3HOJIOPOXXHOI'O TPAHCIIOPTA
Van-Y 13HCKHI KOJUIEIK KETE€3HOAOPOKHOIO TPAHCTIOPTA —
¢bunuan deneparbHOrO roCy1apCTBEHHOTO OIOIKETHOTO 00Pa30BaTEIBLHOTO YUPESKICHHS

BBICIIECTO O6pa3OBaHI/I${

«MpkyTCKUil TOCY1apCTBEHHBIN YHUBEPCUTET IIyTEN COOOILIEHUS»

(YYKXKT UpI'VIIC)

PACCMOTPEHO

LMK 2ymanumapnvix oucyuniun

npotokos Ne 5 ot 08.04.2024

[Ipencenarens LIMK

JIMGOEPEHLIMPOBAHHBIN 3AYET
Hucnumnuna: OI'CD.03.
WHocTpaHHbI S3bIK (aHIIHHACKUIT)

COI'TTACOBAHO
3aM. aupexTopa Kojuiemka no YP

) Sty
L

H.A. Bouaposa

CrermansHocTh: 23.02.01

OpraHu3amyus MepeBo3ok u ynpasienne | (TOAMACE) (1.0.0)

M.U. CaitdbyranHoBa

Ha TpaHcIopTe (TI0 BUIAM)

(mozmwce) (1.0.2.) 4 xypc, 8 cemectp/ 3 Kypc, 6 cemecTp
KouTtponbHas pabota
2 BapHaHT
HNucrpykuus
1. 3a,I[aHI/I$I mpeamojaararoT nepeBoa TCKCTa, OTBCThI Ha BOIIPOCHI, COCTABJICHUC HpeI[J'IO)KeHI/Iﬁ u

orpezieNieHue BPEeMEHH TJarosia.
[Tpu BBIOTHEHUN MOXHO MOJIB30BATHCS AHTTIO-PYCCKUM CIIOBApPEM.
MaxkcuMmanbHOe BpeMsl BhIIIOJIHEHUs 3a1aHust 40 MUHYT.
Kputepuu onieHku pesynbrara:

- «OTIUYHO» - CTABUTCS 32 MPABUILHOE BHITIOTHEHHE 4 3aaHU

- «XOpOIIO»- CTABUTCA 3a MPABUIbHOE BHIMOJIHEHHE 3 3a1aHUi

- «yIOBJETBOPUTEIILHO» - CTABUTCS 32 MPABUIHHOE BHIMOJIHEHHE 2 3a1aHUN

- «HEYAOBIETBOPUTEIBHO» - CTABUTCS 32 MPABUJILHOE BHIMOJIHEHHE | 3aHaHUs.

1. Ilucomenno nepeeedoume mexcm.

Russian Railways consider organization of locomotive construction and repairs as one of its
most important tasks, as the railway traffic is constantly growing. The repair cycle for the
Russian railways is divided into three stages: inspection, preventive inspection, heavy repairs.

Preventive inspection, minor and heavy periodical repairs and lifting repairs including
replacement of worn out parts. This work is carried out at main depots by special teams.

Heavy repairs carried out at special repair shops and at large motive power depots. These
repairs involve dismantling of all assemblies and equipment and replacement of damaged or
worn out parts. During heavy repairs locomotives are also substantially modernized.

Locomotive depots and repair shops of Russia are characterized by extensive use of lifting
and mobile equipment, including bridge cranes, jib cranes, electric loaders and other equipment.
2. Omeemvme Ha 60NPOCHL NO MEKCMY.

a) How are locomotive depots and repair shops equipped?

b) What are heavy repairs?

3. Onpeoenume epemsa u 3a102 npednoxcenuit. Iloouepknume 2nazon-cxazyemoe.

a) The repair cycle is divided into three parts.

b) Russian Railways consider organization of construction and repairs one of the most important
tasks.

¢) ...as the railway traffic is constantly growing.

4. Cocmaevme npeonoscenue, uCnoIb3ysa ciedyoujue cioea:

Shops, devices, repair, are equipped, with, special.

Apwn

IIpenonasareins ' M.M.CaiipyrauHoBa
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